B
4A148(H)

48208(1)
4821H(RH)
5A18H (%)
6A9E(H)

6R 158 (%)
7H20B(X)
7HA218(R)

8H17H(L)
9A8218(%L)
9H238(A)

108198(1)
11816B8(%)
11A238(%)

1H198(R)

3AH9H(H)

#52401

HhTI)—4

I2a460!)—Y s

DT AR—YVIRBEE
0-50/60BE L&
D FRAR—YIREEE
BIARX-EATRR

I22a460')—45

T RAR—VIREEE
ST RAR—VIREE %
I>o34601)—45

P AR—YIREEE
VT AR—YIREEE
I>34601)—45

VT RAR—VIREEE
DT RAR—YIREEE
I>a460')—4

I>o34601)—45

I>34601)—45

602401-1

TSk
EAELERRS

BEAR—YE 42—
BAFREFRE 22—
BERR—Y 22—
& ANELFERS
& ANELFERIS

BEAR—Y 42—
.‘f“r}\éxﬂ_{’_‘yt\/@_
& NE RS

BERAR—YE2-
.\?‘c}\éxﬁ—‘yt‘/g_
& NELEFBRES

.\{“c}\éxﬂ_{’_‘ytylﬂ_
BERR—Y 42—
& NELBRES

EANE RS

& ABE LS

)
@
®

GHONEHONS SHCONS)

©® 0o

OO O®OEE® OO

BIRYvH—is tHEAS 0-60)—45 HIR

14:00
15:05
16:10
18:00
11:30
18:00

13:45
14:50
15:55
18:00
18:00

9:20
10:25
11:30
12:35
13:40
18:00
18:00
14:50
15:55
17:00
18:05
19:10
18:00
18:00
12:30
13:35
14:40
15:45

9:15
10:20
11:25
12:30
13:35

9:15
10:20
11:25
12:30
13:35

~

~

~

NO FBAIREFR ~ #&7THERE

14:55
16:00
17:05
21:00

21:00

14:40
15:45
16:50
21:00
21:00
10:15
11:20
12:25
13:30
14:35
21:00
21:00
15:45
16:50
17:55
19:00
20:05
21:00
21:00
13:25
14:30
15:35
16:40
10:10
11:15
12:20
13:25
14:30
10:10
11:15
12:20
13:25
14:30

R—LF—L
28X =760
IRAEXM+#60
JL1>X60

AFEERE 52—

AT

LT I7L=F60
T7IRADRAE
BikLtY

BEXI=760
BIL/\YAR
IRAEXM+#60
JL1>X60

LT I77L=F60

<t IL60

B &RSSC60
T)—R
E2BXL =760
BIL/INYAR

fo koI X60
BikLtr

<t IL60

B &RSSC60
BI/\YHR
IRARM+#60
JLA42X60

LT I77=TF60
f b oL X60
BI/\yhR
JLA42X60

LT I77 =760
f koI X60
T7IRDRAE

ToI—F—L
T7IRVRE
fhoTL2X60
LT I7L=760

BIiX
IRAEXM+#60
& SSC60
I)—X

A& SSC60
<t¥/L60
BtV
T7IRADRE

f b oL X60

T7URVR
kb2 X60
LT I7 =760
JL1>X60
IIRAXMH+#60

JLA42X60
BIL/\YAHR
Z2ERXI =760
I)—X
Il)—X

B &R SSC60
<+¥IL60
BikLty
T7URDRA
BERXI =760
I)—X

& SSce60
<tIL60
BtV

FE-F4=TL1X60

EERHS0, 60

FE-BA4=RitLtr

FE-£4

FE-F4=11)—X

2024/3/20
=4 & AER

BIE=LT>T77>=760 +BP%&24
E2ERXRIZ760 D7D RE
IEARMU+#60 kL2 X60

glE=11)—X +BP£&24
LTI =F60 TIEARXRMM+H#60
T7RRA B & SSC60
IRARM+#60 glBE=Ei Lt +BP%&24%
EERXI=760 Bt R SSC60
BI/\VHR <+ /L60
LG I77=F760 ko kL2 X60
JL142X60 T7RDRE

<t IL60

B &SSC50
BIL/N\YAR
B2EXS=760

FE-F4=FiAILt>

FE-F4=TL12X60

T7IRDRE
fkroL2X60
IRAERXM+#60
JTLA42X60

BIE=RiL/\vAhX
ko koL X60 JL1>X60
B &RSSC60 Iy—2x
<+ IL60 2BEXI =760
BlE= <t/ 60
B /\YHhR II)—R
IERMmM+#60 & SSC60
ko kL2 X60 T7IRRE
LT I77L =760 BRIt
FE-FA=LTI7L=T760 EIE=BKSSC60
RBir/\whR E2ERXI =760
JLA42X60 I)—x
T7IRVRE BikLtY
FokroL2X60 <€IL60

BIE=LYT>T77>=760 +BP£?

+BP£&-2:

+BP%&2

+BP%&

hREK
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401
2401




